Seitenspanner
Side Clamps




E1 ER-EL

Spannbacken-Set abgestuft
Graded side Wrench Set

Nrl e Spamnkatt | Alawapie |
Rgf%rsr”ﬁg‘“ iy Ll b |n |k |kt [k |Li|d|dl|d2| swmmmgos s

) kot | (Nm) | (@ QB .‘ \
2030-14 | 14 3490 \

5 | 90| 23|47 |47 | 26| 26 | 65 |M12|M12|M12| 10 | 2000 | 35

2030-16 | 16 3670 2
203018 | 18 5000 | | ¥ .
2030-20 | 20 5355 oo,
203022 | 22 | 5 | 95|28 |57 |52 26| 26|65 |Mi2|M12|M12| 10 | 2000 | 35 | 5720
203024 | 24 6190
2030-28 | 28 6650
2030 2030

» Wenn das Produkt das Werkstiick in spannt, fiihrt dies
nicht zu einer Veranderung der urspriinglichen

Form des Werksticks.

» Gehartet

» Schwarz beschichtet
« Set in Plastikbox

L1

» When the product clamps the work piece in the direction of rest,
it does not cause alteration in the genuine structure of the piece.

» Hardened

« Black coating

* Set is in the plastic box

©

()

N

()

N4
n

A |

Set-Inhalt / The set consists of P
Teil @@ LJ ‘.nJ M
Part = I
Menge 2 2 10 10 1 1
Quantity

Abgeschragter Seitenspannbacke

Graded side Wrench Body

Referenz-Nr. o
Order No. %ﬁ%
2035-14 14
2035-16 16
2035-18 18
2035-20 20
2035-22 22
2035-24 24
2035-28 28

Anschlag fir abgeschragter Seitenspannbacke

Graded side Wrench Pluggable

Die Winkelau age ache ist fir diinne Werkstiicke und

die gerade Flache fiir dicke Werkstticke.

Referenz-Nr. N
Order No. %7//}%
2040-14 14
2040-16 16
2040-18 18
2040-20 20
2040-22 22
2040-24 24
2040-28 28

Note: Fixed rest can be used as two different ways: Graded side is used for thin
pieces and the Straight side is used with thick pieces.

176



E1 ER-EL

Seiten-Spannbacken-Set (parallel) abgestuft
Graded side Wrench Set (With Parallel)

a g att Drel'll’r;\vc;meém
Referenz-Nr. c| L1 |23 b |bl|n| k |kl|k2| d]|dl|d2]|sw clarg;%;grce A:f}crfeuvzl &@ "
Order No. %7//% +0.01 Kof (N?m) (9)
2050-14 14 5920
5050-16 16 5 110/ 90 | 85 |65 | 41 | 18 | 47 | 47 | 26 | 26 (M12|M12M12| 6 | 1000 15 6210 g ‘l_\.
2050-18 18 8090
2050-20 | 20 8440
2050-22 22 | 5 |115/ 95|85 | 65|46 | 18 | 57 | 52 | 26 | 26 M12|M12|M12| 8 | 1250 | 20 | 8825
2050-24 24 10080
2050-28 28 10750
2050 2050

« When the product clamps the work piece in the direction of rest,
it does not cause alteration in the genuine structure of the piece.
Because of being with parallel, hole process can be applied on the
machined piece.

* Hardened

« Black coating

« Set is in the plastic box

» Wenn das Produkt das Werkstuick in spannt, fihrt dies nicht
zu einer Veranderung der urspriinglichen Form des Werkstlcks.
Aufgrund der Parallelitat kann der Bohrprozess auf das
bearbeitete Teil angewendet werden.

» Gehartet

 Schwarz beschichtet

« Set in Plastikbox

L ]
1
k ki
- 5 L I
%ya e A A
| | W @HD) | =
HE—= [
Teil T & % —
Part @@ I
Menge 2 2 10 10 2 1
Quantity

Abgeschréagter Seitenspannbacke (Parallel)
Graded side Wrench (Parallel) Body

a

Referenz-Nr. ha

Order No. %ﬁ%

2055-14 14

2055-16 16

2055-18 18

2055-20 20

2055-22 22

2055-24 24

2055-28 28

Anschlag fir Seitenspannbacke (Parallel)
a Graded side Wrench (Parallel) Pluggable

Referenz-Nr. b ——

Order No. %ng

2060-14 14

2060-16 16

2060-18 18

2060-20 20

2060'22 22 Die Winkelau age ache ist fiir diinne Werkstiicke und

2060-24 24 die gerade Flache fir dicke Werkstticke.

2060-28 28 e o e o, Srces e s for

177



M E R- E E Seiten-Gleit-Spannbacken-Set

Sliding Side Wrench Set

Referenz-Nr. -+ ISPaU”k;a" " Fiowatle |
| 2% | e | L] b|bt|nint|n2| k| ki|k|sw| 1 |[h|ht]|d]d dampngore | e
Order No. Kgf (Nem) ©
2070-14 14 10 | 142 | 24 8 37 |12.5|/18.5| 65 | 54 | 26 6 | 65|23 | 10 (M12|M12| 850 15 3575
2070-16 16 ’ ’ 3710
2070-18 18 5215
2070-20 20 14 [ 145| 28 | 10 | 48 |12.5[18.5| 74 | 56 | 26 8 | 65|28 | 11 [M12|M12| 1000 35 5400
2070-22 22 5610
2070 2070
« Durch die Gleitstruktur der beweglichen Backe spannt sie das - Because of the sliding structure df the moving jaw it
Werkstick in Richtung Auflage und Platte. Die breite Bewegung clamps the work piece in the direction of resting and
der Backe bietet Komfort beim Spannen und Entspannen plate. Wide movement of the jaw provides convenience
des Werkstticks. in coupling
* geeignet fir T-Nut DIN 650 and dismantling of the workpiece.
« Gehértete Backen « It is in compliance with DIN 650 T-Slot
« Schwarz beschichtet * Hardness of jaw: Hardened
* Set in Plastikbox « Black coating

« Set is in the plastic box

O
ﬁ_
n2

Spannweg

Movement Distancee
10mm

5 “inh ‘th

Die Winkelauflageflache ist fiir diinne Werkstlicke und die gerade Flache fir dicke Werkstiicke.

Note: Fixed rest can be used as two different ways: Graded side is used for thin
pieces and the Straight side is used with thick pieces.

Set-Inhalt / The set consists of

Teil —
= T3 Y g |~

Menge
Quantity

Gleitender Seitenspannbacke

. Sliding Side Wrench Body

Referenz-Nr. e

Order No. %7/77%

2075-14 14

2075-16 16

2075-18 18

2075-20 20

2075-22 22

2075-24 24

2075-28 28

Anschlag fir gleitender Seitenspannbacke
Sliding Side Wrench Pluggable

Referenz-Nr.

G

Order No.

2040-14 14
2040-16 16
2040-18 18
2040-20 20
2040-22 22
2040-24 24
2040-28 28

178



M E R' E E Seitenspannbacken-Set

ist eine ER-EL Marke Side Wrench Set

Referenz-Nr. e Spannkraft é_ﬁ_é
Order No. % % Clamping Force (kg)
2070-MBS701214 14 2500 3.14
2070-MBS701216 16 2500 3.14
2070-MBS701218 18 2500 3.14
2070-MBS701220 20 2500 3.14
2070

+ Durch die bewegliche Konstruktion passt es sich auch den
unebenen Flachen an und sorgt fir sicheres Einspannen.

2070
« With its articulated design, it makes safe bonding even on
uneven surfaces by taking the existing surface shape.

miksaf|

70
N ‘
g T ]
8 R
15| 40 0 |15
120
Breite / Width 40 mm. Breite/ Width 40 mm.
Seitenspannbacken-Anschlag
Referenz-Nr. e | Side Press Body
Order No. % Zé (kg)
2070-MS701114 14 0.87
2070-MS701116 16 0.87
2070-MS701118 18 0.87
2070-MS701120 20 0.87
2070
« Durch die bewegliche Konstruktion passt es sich auch den
unebenen Flachen an und sorgt fiir sicheres Einspannen.
2070
« With its articulated design, it makes safe bonding even on
uneven surfaces by taking the existing surface shape.
Anschlag fiir Seitenspannbacke
Referenz-Nr. w2 ] Side Press Stopper
Order No. % Zé (kg)
2070-MD702114 14 0.65
2070-MD702116 16 0.65
2070-MD702118 18 0.65
2070-MD702120 20 0.65
2070

179



M E R' E E Seitenspanner Parallelunterlagen-Se

ist eine ER-EL Marke Side Wrench Set (With Parallel)
Referenz-Nr. =& Spannkraft ﬁ
Order No. %W% Clamping Force (ka)
2070-MBS801114 14 2500 6.15
2070-MBS801116 16 2500 6.15
2070-MBS801118 18 2500 6.15 —_——=
2070-MBS801120 20 2500 6.15
2070 !

« Mafsall tasarimiyla diiz olmayan ylizeylerde dahi mevcut
ylzey seklini alarak emniyetli baglama yapar.

2070
« With its articulated design, it makes safe bonding even on
uneven surfaces by taking the existing surface shape.

MIKSAR

Ty 2 N Ry
k1 S 0 Y P e
11l s o %
15 40 * ‘ 40 |15
90 140
Breite / Width 40 mm. Breite / Width 40 mm.
Seitenspannbacken-Anschlag
Referenz-Nr. ’Tif‘ ﬁ Side Press Body
Order No. % Zé (kg)
2070-MS801214 14 1.86
2070-MS801216 16 1.86
2070-MS801218 18 1.86
2070-MS801220 20 1.86
2070
« Mafsalli tasarimiyla diiz olmayan ylzeylerde dahi mevcut
ylzey seklini alarak emniyetli baglama yapar.
2070
« With its articulated design, it makes safe bonding even on
uneven surfaces by taking the existing surface shape.
Anschlag fiir Seitenspannbacke
Referenz-Nr. w2 | Side Press Stopper
Order No. % fé (kg)
2070-MD802214 14 1.18
2070-MD802216 16 1.18
2070-MD802218 18 1.18
2070-MD802220 20 1.18
2070

180



® .
M E R. E I Seitenspannbacke
Side Clamps
Spannkraft Drehmoment
Referenz-Nr. A B c D E E G H J L M Clamping Ag%\:'vea\lgle ghg
Order No. Force Torque | ~(9)
Kgf
9 (N-m)
2072-08016 39.5 65 7.5 25 45 16 7 1.5 7 M8 25 400 8 160
2072-12022 60 85 10 40 60 22 12 2 9 M12 35 900 26 450
2072-16030 77 100 14 50 70 30 14 2 13 M16 40 1700 60 900
2072 2072
» Schwarz beschichtet « Black Coating
-_ A
Y ——]
| % N
© g
/7 w
o Vi
I
T s - — w| oo
‘ ! Befestigungslécher A
M | i S L-For Hex. Socket /
NC Lo ) Head Cap Screws
‘ 1
Seitenspannbacke
Side Clamps
Spannkraft Rflfl*hmomglm
Referenz-Nr. AlBl|c|D|E|F |G| H]|UJ L | m [Clamping AONEDIe gﬂg
Order No. Force Torque | ()
Kgf (N-m)
2073-08016 39.5 65 19.5 25 45 16 7 1.5 7 M8 25 400 8 180
2073-12022 60 85 29 40 60 22 12 2 9 M12 35 900 26 500
2073-16030 77 100 38 50 70 30 14 2 13 M16 40 1700 60 1010
2073 2073

« Gehértete Backen
« Schwarz beschichtet

« Hardness of jaw: Hardened
« Black Coating

Befestigungslécher
L-For Hex. Socket
Head Cap Screws

181




® .
M E R- E I Seitenspannbacke
Side Clamps
Referenz-Nr. / Order No. A B C D E F G H J K L M N
2077-08001 44 32 20 8 28.5 4 26.5 23 7 15 19 10 M8x1.25
2077-10001 54 40 25 10 35 5 33 29 9 16 24 12 M10x1.5
2077-12001 62 46 30 12 39.5 515 BIAS) 85 11 17 27 14 |M12x1.75
Spannkraft Drehmoment
Referenz-Nr. P Clamping Force |Allowable Screw
Order No. Kgf Torque (N-m) ()
2077-08001 6 350 45 160
2077-10001 8 550 55 310
2077-12001 10 700 70 490
2077 2077
- Schwarz beschichtet « Black Coating p

. =
m = } =
| T —
?
te
G Befestigungsschraube

« Secure the body and the flanged collar with a
socket head cap screw, and then turn the the
cam with a wrench to clamp a workpiece.

Verwendung / How To Use

« Zuerst die Seitenspannbacke platzieren und dann
mit einem Schraubenschlissel spannen.

‘ N-Socket Head Cap Screw

Befestigungsschraube

Socket Head Cap Screw

Flanged Collar
Befestigungsmutter

Grundkérper
Body

a S kraft
. =t pannkra
R(Ce)f%ren'fl Nr. A H L s Clamping Force 5&@
rder No. %777}% Kgf (9)
2080-014 14 61 57 108 5 1500 1850
2080-016 16 61 57 108 5 1500 1850
2080-018 18 61 57 108 5 1500 1850
2080-020 20 61 57 108 5 1500 1850
2080-022 22 61 57 108 5 1500 1850
2080-024 24 61 57 108 5 1500 1850
2080-028 28 61 57 108 B 1500 1850
2080 2080
* Spannen horizontal und vertikal méglich « Vertical down thust and horizontal clamping force
available simultaneously with the operation of leverage screw
Kérper Body
« Statische Lackierung « Statical Painting
Backe Jaw
« Gehartet « Hardened

Seitenspannbacke

Side Clamps

182



E1 ER-EL

Seiten-Arm-Spannbacken-Set
Armed Side Press Set

Referenz-Nr.| -+ b | ki | k2| k3| ka | L | h |nt| d|al |0 gn@
Order No. % ;By c dampLZ%Iorce o
2090-14 14 7925
2090-16 16 8490
2090-18 18 4610
2090-20 20 | 35|30 | 95| 99| 26 | 26 | 65| 28 | 10 |M12|M12| 3500|8850
2090-22 22 9030
2090-24 24 9490
2090-28 28 9800

2090 2090

« Uriiniin eksantrik galisma sistemi saat yéniinde
sikildiginda is pargasini dayama ve pleyt
yonulne 6zel dizayn anahtari ile yiksek kuvvette sikar.
1. Spannweite 3,5 mm
2. Werkstlckdistanz bis 1,5-2 mm
3. Befestigung mit 10 mm Allen und Inbusschraube
4. Befestigung des Werkstiicks durch Drehen im Uhrzeigersinn
« geeignet fur T-Nut DIN 650
« Mutter: gehartet
« Schwarz beschichtet
« Set in Plastikbox

» When the eccentric working system of the product is tightened
clockwise, it clamps the work piece with high force in the direction
of resting and plate with it's special designed wrench.

1-Eccentric movement of Armed Side Clamp 3.5 mm.

2-It brings the product 1.5 - 2mm close to the work piece

3-imbus bolts are fixed with 10mm allen.

4-Fixing of the work piece is implemented by turning the product
clockwise with the wrench.

« It is in compliance with DIN 650 T-Slot

* Hardness of nut: Hardened

* Black coating

» Set is in the plastic box

Spannweg
Movement Distance

Set-Inhalt / The set consists of /ﬂ

. [ LN
Tei —— & 7 ﬁ —— el
Part 1 I

Menge Die Winkelauflageflache ist fiir diinne Werkstiicke und die gerade
Quantit 2 2 1 8 8 1 1 Fliche fir dicke Werkstiicke.
y Note: Fixed rest can be used as two different ways: Graded side is used for
thin pieces and the Straight side is used with thick pieces.

Referenz-Nr. -
Order No. %ﬁ%
2090-114 14
2090-116 16
2090-118 18
2090-120 20
2090-122 22
2090-124 24
2090-128 28

Referenz-Nr.

Gt

Note: Fixed rest can be used as two different ways: Graded side is used for thin
pieces and the Straight side is used with thick pieces.

Order No.

2040-14 14

2040-16 16

2040-18 18

2040-20 20

2040-22 22 Die Winkelau age ache ist fir diinne Werkstiicke und
2040_24 24 die gerade Flache fur dicke Werkstticke.
2040-28 28

Hebel-Seitenspannbacke
Armed Side Press Body

Anschlag fiir Hebel-Seitenspannbacke
Armed Side Press Pluggable

183



E1 ER-EL

Stabilspannbacken

Block Side Press

. Fi | F2
Referenz-Nr i
, al a2 b |bl|c | h L |sw | st | spomin gbg
Order No. 437/—5 min-max W clamp;(rzlgf force| clamplw(r;g'j force (kg)
2095-571 14-16-18 37 |37 (57|19 | 8 78-98 | 185 | 10 | 2250 | 350 | 3.68
2095-761 20-22-24-28 | 37 | 45|76 | 26 | 11 | 98-118 | 240 | 14 | 3000 | 450 | 7.66
2095 2095

« Er spannt die Werkstiicke in Spannauflagen- und
Plattenrichtung, er ist speziell flir hohe
Werkstlcke ausgelegt.

» Gehartete Backen

» Schwarz beschichtet

« It clamps the workpieces in clamp rest direction and plate
direction, it is designed especially for high workpieces.

« Hardness of jaw: Hardened

« Black coating

« Er spannt die Werksticke in Spannauflagen- und
Plattenrichtung, er ist zum Spannen groBer
Platten ausgelegt.

» Gehartete Backen

» Schwarz beschichtet

h
min-max

« It clamps the workpieces in clamp rest direction and
plate direction, it is designed for clamping big plates.

« Hardness of jaw: Hardened

« Black coated

C
r——,——————(/\\
:
5 ®© b
< |
£ I
L
5,9
Loy
. Fi | F2
Referenz-Nr P
p 1 2 b b1 h L Spanniaft | Spannkraft KA@
Order No. %’Wi a a c min-max sw clampg_:lnrce clampl\(ré?force (kg)
2095-572 14-16-18 37 | 375719 | 8 | 78-98 | 185 | 10 | 2250| 350 | 3.6
2095-762 20-22-24-28 37 | 45|76 | 26 | 11 | 98-118 | 240 | 14 | 3000 | 450 | 6.7
2095 2095

Stabilspannbacken
Block Side Press

*/s,,,,

184



E1 ER-EL

Gegenhalter

Referenz-Nr. - y ﬁ
Order No. E g a2 b b1 h L
kg)
2098-571 14-16-18 37 57 19 85 124 2.025
2098-761 20-22-24-28 45 76 26 105 154 4.185
2098 2098

« passend zu 2095-571 und 2095-761

« Schwarz beschichtet

a2

« It is designed as clamp rest for clamps 2095-571 and 761.

« Black coating

Block Stopper Side Press

L
52
Referenz-Nr. e N KA@
Order No. ?-,,5 a2 b b1 h L
7 kg
2098-572 14-16-18 37 57 19 47 112 2.800
2098-762 20-22-24-28 45 76 26 49 140 4.185
2098 2098

« passend zu 2095-572 und 2095-762

« Schwarz beschichtet

a2

« It is designed as clamp rest for clamps 2095-572 and 762.

« Black coating

1]

Gegenhalter
Block Stopper Side Press

185



M E R' E E Stabilspannbacken

ist eine ER-EL Marke Block Side Press
Referenz-Nr. &1 Spannkraft ﬁ
Order No. % % Clamping Force (kg)
2105-MYB404114 14 3000 2.80
2105-MYB404116 16 3000 2.80
2105-MYB404118 18 3000 2.80
2105-MYB404120 20 3000 2.80
2105-MYB404122 22 3000 2.80
2105-MYB404124 24 3000 2.80
2105
_ S .
2 >
[3Y | / ~
o |
(o) o |
© | I I I I
\ S 9Py
[ |y
i ]
15—
162 42

Breite / Width 54 mm.

a Stabilspannbacken
Referenz-Nr. LA Spannkraft ] .
Order No. %W”% Clamping Force (kg) Block Side Press
2105-MYB901120 20 3000 6.85
2105-MYB901122 22 3000 6.85
2105-MYB901124 24 3000 6.85
2105-MYB901128 28 3000 6.85
2105

135

105

[1] [1]

100

45

 f—
230 70 20

Breite / Width 68 mm.

- . A pSo— Stabilspannbacken
eferenz-Nr. pannkraft ﬁ .
Order No. % % Clamping Force (kg) Block Side Press
2105-MYB303114 14 3000 2.80
2105-MYB303116 16 3000 2.80
2105-MYB303118 18 3000 2.80
2105-MYB303120 20 3000 2.80
2105-MYB303122 22 3000 2.80
2105-MYB303124 24 3000 2.80
2105

90
60

30

159
Breite / Width 54 mm.

186



E1ER-EL

MIKSAN| ist eine ER-EL Marke

a

Referenz-Nr. b ]

Order No. %sz% (kg)
2105-MD404214 14 1.86
2105-MD404216 16 1.86
2105-MD404218 18 1.86
2105-MD404220 20 1.86
2105-MD404222 22 1.86
2105-MD404224 24 1.86

2105

70

30

75

115

Breite / Width 54 mm.

Gegenhalter

Block Stopper Side Press

L

Referenz-Nr.
Order No.

é(kg)é

Breite / Width 68 mm.

Gegenhalter
Block Stopper Side Press

b=

2105-MD902120 20 4.50
2105-MD902122 22 4.50
2105-MD902124 24 4.50
2105-MD902128 28 4.50
2105
g
105 0
] ]
o (T |
20 ' 70
165

Referenz-Nr. e ]

Order No. % % (kg)
2105-MD303214 14 1.17
2105-MD303216 16 1.17
2105-MD303218 18 1.17
2105-MD303220 20 1.17
2105-MD303222 22 1.17
2105-MD303224 24 1.17
2105

70 ‘
|
I d.
3 i i
15 42 {
95

Breite / Width 54 mm.

Gegenhalter
Block Stopper Side Press

187



E1 ER-EL

Seitenspanner mit 2 Backen

Side Press Clamp with Double Claw

Referenz-Nr. | 7 ciafimg Force
ererenz-Nr. c b L L1 L2 sw d gﬂ@
1 f2
Order No. w Kof Kof (9)
2110-12 12 1600 60 415
2110-14 14 3 20 40 80 39 26 6 M10 2200 90 425
2110-16 16 3200 120 785
2110-18 18 4 25 50 | 100 | 46 34 8 M14 | 3600 140 810
2110-20 20 3600 140 850
2110-22 22 3600 140 2275
2110-24 24 | 5 |285| 78 |140| 65 | 50 | 10 | M20 | 3600 | 140 | 2360
2110-28 28 4000 160 2500
2110
« Das Produkt spannt das Werkstiick in Spannauflagen- und Plattenrichtung.
Durch die Struktur der Klemme wird eine kraftvolle Spannung erreicht.
« Gehartet
« Schwarz beschichtet =
2110 Y
+ Product clamps the work piece in the direction of rest and plate. 4ol
It achieves powerful clamping because of the clamp’s structure. d
* Hardened -
« Black coating
3 .
: e 1SO 4762 Anschlagstiick
Referenz-NI. ahe | b-06 | O | d20.01 | 2001 |ntx002| h2 | h3 [S047%2 mbx chiag
Order No. % % DIN 650 - (9) Cylinder Pluggable
2120-1425 14 |0-0.011 14 24 32 25 - 9 8 M8x35
2120-1450 14 |0-0.011 14 24 32 - 50 9 8 M8x60
2120-1825 18 |0-0.011 18 30 40 25 - 15 10 | M10x40
2120-1850 18 |0-0.011 18 30 40 - 50 15 10 | M10x65
2120-2225 22 |0-0.013| 22 38 40 25 - 15 14 | M10x50
2120-2250 22 |0-0.013| 22 38 40 = 50 15 14 | M10x75
2120 @d
+ Gehartet c Imbus
« Schwarz beschichtet \
o H LLd L}
= H
2120 Lo
* Hardened 0 I
+ Black coating gr a
el [ r} ]
RoforonzNr | =2 i Nutanschlag
c n e Cc d b h k L Sw C|amp Rest
Order No. % % o
2130-12 12 11.7 18 18 M8 9 3 7 36 6 100
2130-14 14 13.7 22 22 M8 11 4 8 44 6 180
2130-16 16 15.7 25 25 M12 12.5 5 9 50 10 270
2130-18 18 17.7 28 28 M12 14 5 10 56 10 355
2130-20 20 19.7 32 32 M16 16 5 12 64 14 570
2130-22 22 21.7 35 35 M16 17.5 6 14 70 14 770
2130-24 24 23.7 40 40 M20 20 6 16 80 17 1180
2130-28 28 27.7 44 44 M20 22 6 18 88 17 1560
2130 sw
« Verwendung fir Referenzen in der T—Tf
Lange/Breite o
- Gehartet ! !
» Schwarz beschichtet — .
2130 l === .
« Clamp Rest is used for reference taking, i :
longidutional and cross-wise. il e
+ Hardened TG b
+ Black coating %»l._»

188



® .
M E R. E I Seitenspannbacke
Side Clamps
Verwendung ohne Anschlag Verwendung mit Anschlag
In Use Without Slip Stopper In Use With Slip Stopper
Referenz-Nr. h
Order No. Spapnkraft Drehmoment Spapnkraﬂ Drehmoment
Clamping Force Allowable Screw Torque Clamping Force Allowable Screw Torque (ka)
Kof (N-m) Kgf (N-m)
2135-1260 2900 38 6900 90 2.4
inkl. Schraub M12 und 4 Beilagscheiben
4 washers for M12 bolts are included.
2135 2135
Grundkdrper Body
» Material: Stahlguss - Material: Cast Iron
» Schwarz beschichtet « Black coating
Backe Jaw
« Gehartet » Hardened
« Schwarz beschichtet « Black coating
Schraube Bolt
» Gehéartet: Induktion » Hardness: Induction
« Schwarz beschichtet « Black coating
50 4 155
20 90 ‘ M1 2x1.75 55 80 Washer x 4
M _ I ?\
CE=c - - ~ =
e i | HEE IO | =88
= € CE0=3
HLHE A :
Seitenspannbacke
Side Clamps
Ref N Spannkraft Drehmoment
geren;— I Clamping Force Allowable Screw Torque
rder No. Kgf (N-m) (kg)
2137-16060 5800 150 2.9

inkl. 2 Beilagscheiben fur Schrauben M12 und M16
2 spherical washers for both M12 and M16 screws are included.

2137
Grundkérper

* Material: Stahlguss

» Schwarz beschichtet
Backe

- Gehartet

« Schwarz beschichtet
Schraube

« Gehartet: Induktion

« Schwarz beschichtet

50

2137
Body
» Material: Cast Iron
« Black coating
Jaw
« Hardened
« Black coating
Bolt
« Hardness: Induction
« Black coating

m
&)
0

75

80 30  Sperical Washerx2
S
R - =85
7
\DET}

189




M E R' E E Seitenspannbacke

ImAo Cam Edge Clamps

Referenz-Nr. Wi | w2 | Hi H2 M P1 Ha L4 w L3 H5 d L5 P

Order No.
2139-32150 45 15 27 18 M4x0.7 30 18 13 75 20 8 6.6 3 60
2139-40200 60 20 33 22 M5x0.8 40 22 17 100 26 10 8.6 4 80
Referenz-Nr.

Order No. H L L2 R L1 H3 M1
2139-32150 32 51 48 63 51.5 18 M4x0.7
2139-40200 40 67 63 80 67 22 M5x0.8
Referenz-Nr. Spannhub Betriebslasta Spannkraft

A ; Operating Load Clamping Force
No. Clamping Stroke p g ping

Order No ping (N) Kgf (g)
2139-32150 19 1.6 150 200 620
2139-40200 24 2.2 200 300 1360

2139 2139
« Schwarz beschichtet * Black coating
L
L2 Geoffnete Stellung
L3

Unclamping Position

\ =

H1

E=h

Eigenschaft Spannhub
» Spannen mit Griff mit 1-Touch Clamping Stroke L4 L1
» FPerfektes Spannen bei Bearbeitung
« Perfekter Halt durch den Druck nach unten und nach vorne

Empfohlene Spannposition
Recommended Clamping Position

Schwenkbereich
Clamping Throw

Gespannte Position

Wurmschraube Clamping End

Features 2-M1 Hex-Socket Setscrew
» The cam handle allows fast clamping in single operation.
« Precision-ground jaw is perfect for clamping
the workpiece on its finished surface.
« In clamping, the jaw provides downward
force to prevent part lift.

Jaw Wechsel der Griffposition

?@ Griff mit 4 Optionen

Changing Handle Position
The handle shaft has 4 countersinks which are
provided every 90° for 4 options of handle position

Verwendung
How To Use

Griff
Handle

190



® .
M E R. E I Seitenspannbacke
Side Clamp
Referenz-Nr. Spannhub
Ordor No. Clamping Stroke Wi1 w2 H3 H4 L2 W L H2 d P H5 L1
2141-00010 1 38 15 45 33.5 10 5.2 36 30.5
2141-00015 2 60 12 5 22 70 50 15 8.2 55 46
zulassiges Drehmoment Spankraft
Referenz-Nr. H D H1 R A w3 M1 Alowable | Glamping F
Order No. Screw Torque amping Force o)
(N m) Kgf 9
2141-00010 30 13 20 63 12 M4x0.7 10 400 85
2141-00015 46 19 30 100 18 10 M5x0.8 27 600 290
2141 2141
Grundkérper Body .
+ Schwarz beschichtet : ‘?l:“sk coating
Back
. Gzzé:‘tet * Hardened
» Schwarz beschichtet * Black coating
L
L1 Verwendung / How To Use
m/ Geoffnete Position
Unclamping Position
|
2-d | H\ @
|| ﬁ\ 9 Empfohlene Spannposition £ Hex-Socket Head
— L ° Recommended Clamping Position % Gap Screw
f gz
EI
2=z T o § =
I 23
— g 2 Hex Wrench
Spannhub | I 2 <
Clamping Stroke Schwenkbereich —
L2 Clamping Throw i
Gespannte Position
Clamping End
Seitenspannbacke
Spannkraft| Drehmoment Side Clam
Referenz-Nr. D lamping |  Allowable JA@ P
Order No. S | W Wil H L P (h7) Hz | M L H T Forge 9 Screw (9)
Kof Torque (N-m)
2143-08015| 3 | 25 | 10 | 25 |21.5| 10 | 6 7 | M8| 32|15 |16 700 25 115
2143-10019 | 4 | 30 | 11 | 32 | 26 | 12 | 6 7 |M10| 40 | 19 | 2 850 50 225
2143-12023 | 5 |35 | 12 | 38 | 33 | 16 | 8 10 |[M12| 50 | 23 | 2.3 | 2000 90 390
2143-16025 | 6 | 40 | 14 | 45 | 40 | 20 | 10 | 10 |[M16| 60 | 25 | 3.2 | 3000 150 640
2143 2143 s
- Gehartet « Hardened » 4#
+ Schwarz beschichtet * Black coating T =
| \Eﬁj
— —
- | et
* | | D
\ | T
— A+
% Lu T
Montage und Verwendung / How To Use and Install o @ﬂ
P
Befestigungsschraube
N, M1| d | Lf | P1 {1} L clestigungssd
Locking Pin CP107-08015 IM 8 10 f‘j L1 ‘ Head Cap Screws
+0.1 6 8
~H95= [op107-10019 W10 2 ™
- CP107-12023 [M12 16 \ —
M 11— = 1| =
o CP107-16025 |M16] 10 20 A X7
= 1 Stift und 1 Schraube Drill a cap-screw hole and

erforderlich

a locking-pin hole as
specified on the up.

191



M E R' E E Seitenspannbacke

Side Clamp
Spankraft | Drehmogent
Referenz-Nr. d pankra renmonent | -
Order No. s w wi h1 L1 P (h7) h2 M L h t Clampér’llg) Force Screw Torque ()
(N-m)
2144-08015 3 25 10 6 245 10 6 7 M8 35 15 1.6 7.000 25 100
2144-10019 4 30 11 8 29 12 6 7 M10 43 19 2 8.500 50 185
2144-12023 5 35 12 9 37 16 8 10 | M12 | 54 23 2.3 20.000 90 320
2144-16025 6 40 14 10 45 20 10 10 | M16 | 65 25 3.2 30.000 150 520
2144 2144
» Gehartet » Hardened
» Schwarz beschichtet « Black coating
L
L1 M- Befestigungsschraube

Hex. Socket Head Cap Screws

T ) il

== Scheibe / Washer ﬂ

\
S _ _ —
L ==

L ]

h2_ ht
=
ik

Anwendungsbeispiel / Application Examples

Referenz-Nr.
Order No. M1 | d | Lf|pt

2144-08015 M8 | 6 | 8 |10
2144-10019 M10| 6 | 8 | 12
2144-12023 M12| 8 | 11 | 16
2144-16025 M16 | 10 | 11 | 20

192



E1 ER-EL

Referenz-Nr. o s1 m sw | L h k n b clasrﬁ;innngkg}ce gA@
Order No. w ko ©
2150-08 8 1.4 5 4 23 9.5 6 7.7 13 310 25
2150-10 10 1.4 5 4 23 14 6 9.7 15 310 35
2150-12 12 1.2 7 5 28 15 7 11.7 | 18 340 60
2150-14 14 1.7 7 7 30 22 8 13.7 | 22 800 95
2150-16 16 1.7 10 8 30 22 9 15.7 | 25 1500 | 130
2150-18 18 2 10 8 35 28 10 [17.7| 28 1500 | 190
2150-20 20 2.5 13 10 40 32 12 [ 19.7| 32 2000 | 290
2150-22 22 2.5 13 12 45 38 14 [ 21.7| 35 2000 | 390

2150 2150

« Die T-Nut des Produkts tritt vollsténdig in die Nut der
Tischplatte ein. Da nur der exzentrische Kopfstlck auf
der Tischoberflache verbleibt, ist ein einfaches Spannen
der diinnen Teile mdglich.

« geeignet fur T-Nut DIN 650

» Gehértet

» Schwarz beschichtet

[ 1]
a0
=

« T-Slot of the product enters in the slot of the
bench completely. Since only the eccentric
headpiece remains on the surface of the table,
this provides easy clampings of the thin pieces.

« It is in compliance with DIN 650 T-Slot

» Hardened

* Black coating

Seitenspanner in T-Nut

In-Slot Side Clamp

a n ISpa_nnk;aﬂ
Referenz-Nr.| clamping force ﬁ
C | min|max| X L b |m1]| sw 1 2
Order No. %W% kg kgt )
2170-12 12 2 2 6 4 146 |21 | 10| 5 500 60 120
2170-14 14 25 |25|75| 5 |51]|26 |10 | 6 550 70 200
2170-16 16 3 |25|85| 6 |61|275/12| 6 800 90 290
2170-18 18 3 2 8 6 |67 |35 |13 | 8 900 | 100 420
2170-20 20 4 |25 11 |85|78| 38 | 13| 10 | 1200 | 140 640
2170-22 22 45 | 25|12 |95|87 | 39 |16.5 10 | 1600 | 190 830
2170 2170

« Spannt das Werkstiick gegen die Anlageflache
und Richtung Platte

* Arbetien in T-Nut verschafft Héhenvorteil

» DIN 650 T-Nut konform

» Gehartet

» Schwarz beschichtet

n max

+ This product clamps the workpiece in the
direction of resting and plate

* It's working in T-Slot provides height advantage

* It is in compliance with DIN 650 T-Slot

*» Hardened

» Black coating

n min

Flachspanner
Jaw Clamp

193



M E R' E E Keilspanner beidseitig

Side Press with Double Opening

Referenz-Nr. c e e g'awam'(“}';fge gﬂl
Order No. | min | max %% m | k| b L IpNg2 |zggf

2190-5055 | 50 55 14-16-18-20-22 35| 4 |30 |42 | M12 1750 | 390

2190 2190

+ Spannen von einem Punkt in beide * This product makes press process from one point to two
Richtungen und Plattenrichtung directions and towards the direction of the plate.

+ passend zu M12 Gewinde auf Platten « It is used in M12 thread plates and (a) 14-16-18-20-22
und (a) 14-16-18-20-22 * T-Slot measurings

* Verwendung flr T-Nuten +» Hardened

+ Gehartet « Black coating

« Schwarz beschichtet

Spannt in beide Richtungen und nach unten.
Clamps in two directions and downwards

c
max
c
min x
i
{- -‘: ﬁi QLR
, QoS0
e Hm
H H QoS0
. . ‘7
L
M12
Keilspanner beidseitig
Referenz-Nr. c a NN . Claslﬁgnnngk;gitc . gﬁ@ Side Press with Double Opening
. m 1
Order No. min | max % % DIN 912 kgf ©
2210-4954 | 49 54 14-16-18-20-22 23 4 30 | 42 M12 1500 280
2210 2210
« Spannen von einem Punkt in beide « This product makes press process from
Richtungen und Plattenrichtung one point to two directions.
« passend zu M12 Gewinde auf Platten « Itis used in M12 thread plates and (a) 14-16-18-20-22
und (a) 14-16-18-20-22 * T-Slot measurings
« Verwendung fir T-Nuten » Hardened
« Gehartet « Black coating

« Schwarz beschichtet

Spannt in beide Richtungen
/ Clamps in two directions

C
max

min

194



E1ER-EL

Referenz-Nr.
Order No.

hxbxL

toleranz
tolerance
h

toleranz gﬂ@ .
Stiick
tolerance Picce

b (kg)

14x10x150

16x10x150

18x10x150

20x10x150

22x10x150

24x10x150

26x10x150

2230-028

28x10x150

30x10x150

32x10x150

35x10x150

40x10x150

45x10x150

50x10x150

+0.01

+0.01 10.8

N (NN (NN N[N (NN N[N NN N

2230

« Als Unterlage beim Parallel- Spannen
und Feinbearbeitung

« 28 Stiick.
« Gehartet
« Set in Holzkiste

2230

« This product is used for parallel coupling
of the workpieces and as the base for
sensitive machinings of the work pieces.

- 28 pieces.

« Hardened

« Set is in the wooden box

Parallelunterlagen-Set

Parallel Set

{/10.002]B]
<
L Lol
toleranz toleranz .
Referenz-Nr. | 1, 1y | tolerance | tolerance gﬂ@ Stuick
Order No. Piece
h b (ka)
20x6x100 2
23x8x100 2
28x10x100 2
36x12x150 2
- +0. +0. .
2250-016 253123150 +0.01 0.01 10.6 5
48x16x150 2
58x18x150 2
65x22x150 2
2250 2250

« Als Unterlage beim Parallel- Spannen
und Feinbearbeitung

« 16 Stlck.
« Gehartet
« Set in Holzkiste

o=

» This product is used for parallel coupling
of the workpieces and as the base for
sensitive machinings of the work pieces.

« 16 pieces.

* Hardened

* Set is in the wooden box

) {//10.002]D]

Parallelunterlagen-Set

Parallel Set

195



M E R' E E V-Spannblock

V-Clamping Block

Referenz-Nr. Qv ﬁ
Order No. a b ¢ min max ©
2270-140 140 82 40 20 110 1980
2270-204 204 115 66 15 150 6150

2270

* Material: Guss

« Verwendung als Unterlage bei Spannen zylindrischer
Werkstlicke und Feinbearbeitung

« 2-er Set

2270

« Material: Casting

« This product is used in parallel couplings of cylindrical
pieces and it is also used as the base for sensitive
machinings of the workpieces.

« Set of two pieces

“X V” Spannblock

Referenz-Nr. Qv1 Qv2 Qv3 Qva gﬂ@ XV-Clamping Block
Order No. min | max | min | max | min | max | min | max ©

2290-120 120 | 100 | 60 | 12 40 12 60 12 | 75 | 12 90 2840

2290-150 152 (132 | 74 | 15 80 15 95 15 | 110 | 15 | 120 4975

2290 2290
* Material: Guss * Material: Casting
« Verwendung als Unterlage beim Spannen der « This product is used in parallel couplings of cylindrical
Zylinferwerkstlicke und Feinbearbeitung. pieces and it is also used as the base for sensitive machinings
Aufgrund X-Form kann man alle 4 Flachen verwenden. of the workpieces. It provides using advantage in 4 different
surfaces because of being in X form.
« 2-er Set * Set of two pieces

Qv1 av2

196



E1ER-EL

Referenz i | L h a at b b1 sw
(9)
2205090 | 90 | 39 | 55 | 73 7 |2135| 8 | 1480
2205115 | 115 | 49 | 65 | 825 | 85 |[31-42| 10 | 2690
2205130 | 130 | 56 | 75 | 98 | 10 |3748 | 12 | 4160
2205

« Durch Einfrasung eines, Vogelnestes kann das Werkstiick gespannt werden.

» Gehartet

» Schwarz beschichtet

2295

 Apparatus is connected at workpiece, swallow nest opening.

 Hardened
« Black coating

Bewegliche Backe

Spannapparat CNC 5-Achs
CNC 5 Axis Clamping Parts Apparatus

ik

b1

. Feste Backe
Movable jaw o % Fixed jaw

© o O8 R
@ @ ™~ @ Ziehschraube
l ‘ Pull screw
" .
ail
Spannapparat CNC 5-Achs
CNC 5 Axis Clamping Parts Wedge
Referenz-Nr. a h L d
Order No. —a )
2297-090 55 58 87 M10 2110
2297-115 65 68
2297-130 75 80 126.5
2297
« Gehartet

» Schwarz beschichtet

2297
* Hardened
« Black coating

/)

197



